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In the figure above ,square CDEF has area 4.
What is the area of AABF?
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4 0

In the figure shown ,point O is the center of the semicircle and
points B,C and D lie on the semicircle .If the length of line segment
AB is equal to the length of line segment OC ,what is the degree
measure of angle BAO ?

(1) The degree measure of angle COD is 60°.

(2) The degree measure of angle BCO is 40° .
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Is the measure of one of the interior angle of quadrilateral ABCD equal to 60
degree ?

(1) Two of the interior angle of ABCD are right angles.

(2) The degree measure of angle ABC is twice the degree measure of angle BCD.



Solid

Prism
Rectangular solid

Cube
Pyramid
Cylinder

Cone

Sphere
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Volume
V =Bh
V =Iwh
V=g
V= lBh
3
V=nrh
V= l7z'rzh
3
4
V==nr

3

MART1AE]

Surface Area

SA= Ph+2B
SA=2Iw+2lh+2wh

SA=6s’
SA:%PL+B

SA=2nrh+27r?

SA=rrL+ i

SA=4rr’

ISE=

The variable in these formulas
are defined as follows:

V=volume h=altitude
SA=surface area  [=length
B=base area w=width
P=base perimeter r=radius
- . s=side
L=slant height Iength



4.1 NaztmilRER=RE

A rectangular box is 10 inches wide, 10 inches long,and 5 inches high.What is the
greatest possible(straight-line) distance, in inches, between any two points on the box?
(A) 15

(B) 20

(025

(D) 102

(E) 10 V3
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A grocer is storing small cereal boxes in large cartons that measure 25 inches by 42 inches by60
inches. If the measurement of each small cereal box is 7 inches by 6 inches by 5 inches, then

what is the maximum number of small cereal boxes that can be placed in each large carton?
(A) 25 (B) 210 (C)252 (D) 300 (E)420
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(a, b) SAIXIFR

FFxil (2, -b)

xFyi#  (-a, b)

K Sy=xxJ#R (b,a)

KTFy=-xxJ¥R (-b, -a)

KFIRLXIFR (-a, -b)

HEdE90° FENALIRBITERIIR, FESEZIR
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In the rectangular coordinate system above ,the line y=x is the perpendicular bisector
of segment AB(not shown), and the x-axis is the perpendicular bisector of segment
BC (not shown),If the coordinates of point A are (2,3), what are the coordinates of
point C?

A.(-3,-2)  B.(-32) C.(2,-3) D. (3,-2) E.(2,3)

y —
A, y=x
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In the figure above ,points P and Q lie on the circle with center O,VWhat
is the value of s ? \/,
2
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